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8" Grade CHAPTER 5 Pe«actace 2

Determine whether each relation is a function. @pts sach)
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Model each rufe with a table of values and then graph. (4pis each)
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Model each rule with a table of values and then graph. (4pts each) |
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Write a function rule for each table. @pts epch)
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Write a function rule. @pts)

7) The cost of renting a car depénds on the number of days rented. Enterprises
charges $29.75 per day. Write a function rule to represent the cost of renting a

car. :
N
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Is each equation a direct variation? If yes, find the constant of variation. (1
8) y=-8x+9
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Write the equation of direct variation that includes the given point. @pts each)
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Write the equation of direct variation that includes the given point. (épts each)
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Write an equation for each inverse variation. (1pteacn)
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16) y= 1 when x=4




Each pair of points is on the graph of an inverse variation. Find the missing

value. (2pts each)

17) (4,12) and (6,y)
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18) Do the data in each table represent a direct variation or an inverse

variation? (2pts each)
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